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(A) Western blot (B) Southern blot
(C) Northern blot (D) Eastern blot
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1. A # & (Alternative concept)
2. A E (Authentic assessment)
3. M 4o (Situated cognition)
4. 2 E3E (Learning cycle)
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Marie is a girl who has a pet fish. She knows that fish need to live in water,
and she also knows that water left in an open container will dry up, or evaporate.
Marie has to go away for a few days and leave her fish at home. She wants to
make sure that all her fish’s water will not evaporate while she is gone. She has
two containers that hold the same amount of water but have openings of
different sizes. She wonders whether the size of the opening would affect the
evaporation of the water in the containers. She wants to find this out, so she can
-decide which container would be best for her fish while she is gone.
1. Pose a question—What does Marie want to find out?
2. Make a hypothesis—What do you think the answer to the question might be?
3. How could Marie find out? How coulid she set up an experiment to get the
answer? }
4. What materials will you need to do the experiment?
5. How will you record your results?
6. How will you make your conclusion about the answer to your question?
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